e— OO
Answer Key - Sampler B

1. D
2. B
3. C
4. A
5. C
6. D
7. D
8. B
9. C
10. A
1. D
12. A
13. B
14. C
15. B
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16) Find 8. Round the answer to the nearest degree.

(om0 = 35> Yo'-28”

" T —2(v0)(25)
D =225 1600625
2 ‘o T~ 2000
too 6 - —102°
= 2000
(936 =
b =co2” [0:$)
b= b0
Answer: 60 °
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Use a quadratic function to model and solve the given problem:

A landscaper is designing a 6 m by 8 m rectangular garden that will then be
surrounded by a uniform border of crushed stone. She has enough crushed
stone to cover 72 m2. What is the width of the border if she uses all of the
crushed stone?
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18) Solve and identify all non-permissible values. 1+ 3

F -
9x-3 6 _ 7,?
X*—x—6 x—3_2

92 -3 _ L -2
(X3 2>
91-3 - L(z+2) = R(L-DOH)
2
71,3 —b X (L = 2[1 - x-¢)
2 —)5 = 212_- ;ll-*l?-f
.ﬂg:(,?"*f'.S_Z- -3 = O
2x*—5x+3 =0
212_—21 ’31‘7"3:0
ax{x-1) '5(1”):0
(or -1)(25¢-3) =0
X =1 Wx;'g/g_

Answer:

‘. A=/ or Z"'%{

F N 4

a #3
2

18. For Department Use Only

Value of 3




‘9jelsdosdde Ajjeilsed Ajuo g 0} paJapisuod si ‘po13|dw 02 10U INQ 3934403 S| UOIIN|OS € J|

Pa1LIS 10U SANJeA _
a|qissjwsad-uon @

"1924100ut Ajje101

2

paiels
Ajoaai03 sanjea dajs 351y YO PaL400u|
m_a_mm_EBa-:oz@ suoljaeyy Juseanba
o ) Ny 1N9g paJ101oef Ajpdauio)

pale)s

-
AlP2.1102Ul SaNjeA u
: m_n_wm_c.twn-co.@ FuiAgduwis ajym 4 =
e SuOIlejNIed 1D31I0dU| |
Aa1100 sanjea SoA Qou suooely
,.m_a_mw_E._ma-co . J Juajeainba 39.110)
p 1ng

" payess
paiojae} A[393.100u)

Aj393.100u s3njea,
. m_n_”mm_E._wn-cog
o pajers |

Aj9a.100 s8NjEA S

m_n_mm_EL_ma-co@

s e

suoijenby
jeuchiey

soA

SuAgduns ajym
SuO1lejnJ|es 1991100

- Y

5

ou |
2A
f paie)s
Ajdaui00ur sanjeA ou
SoA

uAydus apym

m_n_mm_Ehmn-:o@
SU0Ie|NJ|eI 3D3J400U)|

pajels

Aj1081100 sanjea 5UoI30eL
u_a_a_eaa-co_m@ Ju3jeAINba 1331407

= pa3els 1 - NV
Aj123.4400u] S3NjEA ou paJ03oey Aj1d3410)
3|qIssiwasad-uo,

i %) Suikydwis 3pym

i s, SuOlle|NJed 123.140)

paiels
Ajp2auiod sanjea SaA
91551 E._wa-co,mwu
| P e



Page 19

19) Solve: |x*+5x|=2x

15+ 5x =A%
A +sHx-2x =0
2t +32=0
> (1¢2)=0
DR
theek’ .
101*5(03/ /['3) +5{~3)/
[olf—afo) /q’fg/
D -,:/() -6/ 2(3)
b £ —L
Answer:
o X=0
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»——(;z-f—sx) =2 X
—xt s =2%

—x 7"_,’71 =0

~x (76,7"7) =0

o o K
/ («7)7?5 ('7)/

/%7—35/
Ji4]  2L7)
4 # -1

Value of 3
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20) The monthly production of crude oil, in barrels, for the first four months for a test
well at Hebron is given below. In theory, what is the expected lifetime production
of the well, to the nearest barrel?

—————————

L = Hooo0
Month # of Barrels a0
1 40 000 r= 2100 - 0,55
2 34 000 y) 00O
3 28 900
4 24 565
Se = 2022
]-0.85
—0i5
= bl b6
Answer: . )
2 Fha eppectod Lefelemne

e e 2l 607
Narvalo.
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Value of 2
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